m B Al B KSR R

(B )

o % B HE(Keg) HEOG 2 & hE(%) EHEHE
1T < A ES 103, 374 19.9 2 42, 404, 394 9.2 410
2 W ) 4] 57,046 11.0 5 30, 116, 555 6.6 528
3 n on L 46, 220 8.9 4 31,940, 911 1.0 691
4 1% S 5 43, 985 8.5 1 64, 238, 827 14.01 1,460
5 & ES 5 32,099 6.2) 6 25,423, 886 5.5 192
6 | 1= (A 18, 706 3.6 8 17, 640, 080 3.8 943
A C 15, 091 2.9 15 10, 298, 471 2.2 682
8 | & < 5 14,011 2.7 3 33,424, 131 1.3 2,386
9 | M s 13,392 2.6 1 19, 254, 864 4.2 1,438
10 & A - 3 13, 259 2.5 9 15,108, 717 3.3 1,140
" [+ 12,738 2.4 11 12,413, 836 2.7 975
12 | 2 B 12,319 2.4 12 12,295,072 2.7 993
13 S 5| 10, 190 2.0 23 4,152, 359 0.9 407
14 | 1= 5 L] 9,170 1.8 21 4,833, 867 1.1 527
15 | 1= - 5| 9,068 1.7 13 11,790, 891 2.6, 1,300
16 | & & Y 8,693 1.7 18 95,702, 053 1.2 656
17 10 5 1)) 1,832 1.5 17 6, 490, 420 1.4 829
18 L c H 1,764 1.5] 22 4,492,785 1.0 579
19 [ [F = T 6,567 1.3] 16 1,671,748 1.7 1,169
20 & 5 C 4, 656 0.9 14 10, 697, 952 2.3 2,298
21 1ZF e E 4,24] 0.8 25 3,232,089 0.7 161
22 & el 4,235 0.8 30 1,748,169 0.4 413
23 W Cp) L 3,192 0.7 29 2,124,819 0.5 560
24 (X ES < Y 3,699 0.7 28 2,215,404 0.5 615
25 | Iz 5| 2,472 0.5 20 5,452, 639 1.2] 2,206
26 b AN 1)) 2,252 0.4 24 3,430, 141 0.7 1,523
21 | ¥ El E 1,945 0.4 31 1,159, 922 0.3 996
28 | Z H = 1,812 0.3 217 2,421,950 0.5 1,340
29 13 5 & S5 % 1,283 0.2 36 327,133 0.1 255
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(B%)

o % H HE(Ke) B & #E E(%) FHE
30 |5 Iz 4] 1,134 0.2 10 14,154,210 3.1 12,482
31 | & A A 917 0.2 35 425, 088 0.1 464
32 C E | 904 0.2 32 893, 958 0.2 989
3 H H [0} 871 0.2/ 19 5,632, 5471 1.2 6,423
K7 A L b 5 154 0.1 40 218,915 0.0 290
3%z [0} 2 748 0.1 26 3,170, 933 0.7 4,239
36 I 1= (& 1= 532 0.1 37 321,516 0.1 604
37 | & & DA | 368 0.1 33 610, 827 0.1 1,660
38 & ) z 352 0.1 34 455, 090 0.1 1,293
39 | C ) L ) 251 0.0 38 273,171 0.1 1,088
40 | L =) 3 > 199 0.0 39 260, 928 0.1 1,641
41 11z L A 133 0.0 42 13,218 0.0 951
42 EL&LS (54F) 25 0.0 41 102, 600 0.0 4,104
23’ <1 8 0.0 43 96, 160 0.0 7,020
44 | 7z ES - 1 0.0 44 0 0.0 0
T2 o it £ £ 26, 009 5.0 1 23,158, 489 5.0 890
2 £ o # B 8 8,518 1.6 2 8, 354, 991 1.8 981
3 o e E OB 4, 666 0.9 3 4,257, 819 0.9 913
4 1% ) fth 1,983 0.4 4 3, 635, 139 0.8 1,833

fit gl H 520,316 100.0 458,632,350 100.0 881
(HER)

o % H HE(Ke) B & #E E(%) FHE
T A < S 29,610 10.31 9 12,420, 214 4.0 419
2 w 3 e [+ 28, 367 9.9/ 8 13,657,012 4.4 481
3 mo b Ly 24,710 8.7 5 16, 219, 420 5.2 655
4 |'& 7 -\ 22,899 8.0/ 6 15, 043, 198 4.8 657
9 b3 D & 18,390 6.4/ 3 20, 742, 807 6.7 1,128
6 & A (63 13,315 4.7 1 31, 461, 585 10.1] 2,363
1T & < [+ 12, 449 4.3 10 11,776,195 3.8 946
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(RERA)

o % H HE(Ke) RO T & @ E (%) TRBE
8 & & & F B 12,430 4.3 2 26, 251, 644 8.4 2,112
9 |'& Ly ya) 12,224 4.3 1 11, 362, 885 3.6 930
10 m = A ES 11,103 3.9 15 4,770, 969 1.5 430
m s & £ < 5 # 7,508 2.6 17 13,975, 939 4.5 1, 861
12 & pa) 1z 7,458 2.6 4 18, 468, 636 5.9/ 2,476
183 & 1= D) 4,845 1.7 13 6, 440, 364 2.1 1,329
14 m S 1= T 4,383 1.5 12 6,475,134 2.1 1,477
15 m =3 A =3 4,017 1.4 17 3,462, 821 1.1 862
16 | A FE N L = # 3,635 1.3] 16 3,766, 288 1.2 1,036
17 & * El 3,554 1.2) 14 4,964, 503 1.6 1,397
18 & 1= Ly 2,745 1.0/ 18 3,358, 385 1.1 1,223
19 & %) C 2,687 0.9 21 894, 479 0.3 333
20 m I L A 1,626 0.6 24 413, 936 0.1 255
AR 1= = 1,205 0.4 19 1,591, 315 0.5 1, 321
22 el = H B 849 0.3 22 763, 895 0.2 900
23 m & hoa) IF 671 0.2 23 583, 114 0.2 869
24 A =3 El 450 0.2 20 1,036, 152 0.3] 2,303
25 mA v FECAH 150 0.1 27 89,100 0.0 594
26 & J o A4 5 — 129 0.0 26 149, 958 0.0 1,162
27 m < C ) 16 0.0 25 178, 664 0.1 2,351
28 & A Lo = Y 45 0.0 28 56, 473 0.0 1,255
29 & KB T b I 20 0.0 29 27,000 0.0 1,350
30 M ) 1w 20 0.0 30 23,760 0.0 1,188
1 14 B & 37,321 13.0| 1 48,901, 428 15.7 1,310
2 = 0O M A& E 10, 835 3.8/ 2 17, 474, 000 5.6 1,613
3 | o b s B B 6, 469 2.3 3 15,101, 666 4.8 2,334

m 3 il B 286, 255 100.0 311,902, 939 100.0/ 1,090
(B8F. MI&H)
o ) = HE(Kg) HEOG ZH @ B L (%) THE(E
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(\F. M)

£

o g 8 #E(Kg) HE% ZH B HE(%) FHEE
1 |18 & [+ 42,913 14.0 1 41,911, 329 12.0 977
2 5 L 38, 666 126 2 36, 990, 809 10. 6 957
3 pa) E3 : 16, 761 5.4/ 6 14,235, 467 4.1 849
4 & ¥ S 12, 800 4.2 4 15, 819, 464 4.5 1,236
5 B n o 11, 289 3.7 1 8,432, 336 2.4 147
6 | B + 10, 259 3.3 3 19, 660, 569 5.6/ 1,916
TR OF F o IF 8,955 2.9 8 13,180, 926 3.8/ 1,472
8 o1 5 & Y A 8,313 2.7 14 6, 269, 626 1.8 149
9 |i& mn 5 6, 885 2.2 13 1,445, 288 2.1 1,081
10 | # + 6, 157 20 5 15, 350, 105 4.4 2,493
" | & T+ 5,574 1.8 9 12,593, 395 3.6 2,259
12 | B T+ C 5,143 1.7 16 5, 350, 861 1.5 1,040
13 5 < o) 5,132 1.7 21 3,761,399 1.1 133
14 4] & i 5,095 1.7 15 9,797,485 1.7 1,138
15 9 ) b)) 4,704 1.5 10 9,393, 787 2.7 1,997
6 H +F & A F 4,155 1.4 18 4,014,136 1.1 966
17 /B & =7 4,031 1.3 17 4,900, 587 1.4) 1,216
18 # ¥+ 3,211 1.0 12 8,031,474 2.3 2,497
99 5 & 5 & 3,078 1.0 19 3,826, 315 1.1 1,243
20 | F T (& 2, 881 0.9 24 2,469, 804 0.7 857
21 | Ly < 5 2,589 0.8 7 13, 306, 358 3.8/ 5,140
22 | B L) 2,329 0.8 20 3, 825, 482 1.1 1,643
23 | & Y T+ 2,031 0.7 23 2,980, 216 0.9 1,467
24 0 F W b L 2,019 0.7 26 1,171,002 0.3 580
25 | & 3 I+ 1,970 0.6 25 1, 365, 336 0.4 693
26 T 2 S 1,452 0.5 22 3,641,054 1.0] 2,508
27 | 1¢ ) & 1,283 0.4 27 1,088, 261 0.3 848
28 5 X I L A 128 0.2 29 115, 828 0.2 983
29 AW F & B L 371 0.1 28 933, 233 0.3 2,475
0 v 5 L > M 353 0.1 32 331, 648 0.1 940
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(\F. M)

o % H HE(Ke) RO T & @ E (%) TRBE
31 R F T A F 3 0.1 31 369, 864 0.1 1,085
32 1§ ES El 336 0.1 30 404, 054 0.1 1,203
3 Iz < 4] 229 0.1 33 326, 236 0.1 1,425
34 N —t—2 22 0.0 34 23,242 0.0 1,056
T2 o # & ®H & o6, 556 18.4 1 45, 345, 419 13.0 802
2 = o # F 9 10, 420 3.4 3 11, 389, 397 3.3 1,003
3 o o 5 10, 331 3.4 4 11,137, 537 3.2 1,078
4 1% ) ftt 8, 149 2.6 2 12,307, 749 3.5 1,510

B F . mI a5 307,583 | 100.0 350,097,138 100.0 1,138
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